Score: /78‘

1) 5-(3+2)=

2) 5-3+2=

3) 8-2x4= B

4) 36+ (3x6)=

5) 16~-4x2=

'BEDMAS 1A

Percent: %

Instructions: Simplify (find the answers)

Questions

Name

Date

and SHOW all steps. All Questions are worth 3 marks each.

‘ 7).18+(6+3):

8) 5(8 +2) =

9) 8+(6-2)=

10) 7+ (3)(5) =

11) 6x12+9=

12) 36 - (4)(5) =




BEDMAS 1A Questions - confinued

13) 25+ 8 + 4= 20) (7)(3) - (2)(5) =
14) 49 -18 +2x 3= 21) 10-(3x4-2)=
15) 6x8+12+4= 7 22)12-(20+:4-2)+3=

16) 40§5+6x2= __;.,.23) 43 +2)-3(7-4)+5(12-6)=

17) 3(7-2)+10 = 24) 6(8 - 3)+(1+9) =
18)12-3(7-4)= 25) 36+ 3+ (20 +5) =

19) 12+18 6 - (3)(2) = 26)8+45:9-4%3 =




